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restart;
Math 182 Homework 7

Question #7 continues...

rmd f{L45%3) ;
i=l-xA2;

plot({f,gl,x=-3..3,y=-2..2);

1+ 5x

e
|1|1T;:|1_

ar=Fsolve(f=g,x=0.2);
b:=fsolve(f=g,x=1);

Vi=int(Piv(gh2-fAZ) x=a. .bB);

—

Lodddodbndnd boghy,

NI
1

a:= 0.2204279572

b:= 0.7652427560

Vi= 0.2852020332
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> restart;

# Math 182 Homework 7
& .
. # Question #7 continues...
> Fi=Tog(d:
gr=x-2;
f=Ink
gi=Xx=2

> plot([f,g],x=-2..4,y=-2..2);

N
1
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e
LoJdootobodedodo
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> ar=fsolve(f=g,x=0.2);

a:= 0.1585943396

MS b:=Fsolve(f=g,x=2); .
b:= 3.146193221

_S Vimint(2%Pi¥x*(f-g) ,x=a..b);

V= 17.09930676
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